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» BERALIAL, ALA2FIA2A2HIEE
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EE  AA, AA,  AA,
2R Em

FERAE Gy l Gy Gy
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IR BT

~HREY P=G+ec G=P
+&EEBAIAL P,=G,=m+a
«BEBAIA2 P =G, =m+d
/| D

» FEEIBUIA2A2 P,=G,,=m-a




BEH3ZBECEF (AR I

= FEAL Z ECEH AR E B AT A R & H
RE YN F KRB

EEE ++ +Pg  pYpg
K& (g) 14 12 6
»m=(14+6)/2=10

»a=(14-6)/2=4, d=12-m=2




A2 EZNERBMEM S #E?

gﬁfﬁ*=ﬁ%%%ﬁéﬂ,ﬁ$%
« BRR, PURLHFERRHE, EXD
Fﬂ%%ﬂ

« TMENBEMERNERRIRIMEITE
i, WMEN PRI HOIERE

« MENEMEMNFR B SRIAET T
A <EY

« MR B MENRB T EFRERN EMEHE




FEAL 3Z BRI RS2
p=P(A1), g=P(A2), p+q=1

EEE AlAlL A1A2 A2A2
TS p? 2pq q°
=FBE G, ,=mt+ta G,,=m+d G,,=m-a

1= p°G,+2pqG,, +q°G,,



BE#N 32 BC B AR F 18
#=m+(p—q)a+2pqd

o X T F28#HF, p=g=0.5
H{=m+=d

« [EItk, F2R L A5 R RUBEHL A2 BC A+




B B PR i o 3 EL EI BY AVIR FR UM
» AEGEHE u EEREERIE,
HEREMMN (Genetic effect)
G =u+09;
o IXHEE X BV, KT B e F{iL
= E R SRR

P°dy; +2pag;, +9°g,, =0




S (A2 BRI

+FNEREW M (Effects of alleles)
HYE X

» FALEFA LR R

« LB FE A 2B R



AL

Al

A2

FAEEB MR

FEREEEMEZRRE FRE EMEEE

k15 5%
A1A1 AlA2 A2A2 ¥
a d -a
p g patqd (p-g)a+2pqd
p g -ga+pd  (p-g)a+2pqd

FF L EE R
Rz

gla+(g-p)d ]

-p[a+(g-p)d ]



FFLEEB M A RIETN
»TFAEEA B

o, = pa+qd -[(p—q)a+2pqd]=q[a+(q- p)d]

« BT EFEA, IR
a, =-0a+pd-[(p—qg)a+2pgd]=-pla+(q- p)d]
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» ZEFRHBMN (Effect of an allele
substitution) X

« IR B B M

«BFMEEA N EEE B EF
BRI EERREENTN



EEBRBNMAITE FA2HALE#R)

. BRAEN E,
%*Eﬁgﬁ Jﬂwa %rﬁiﬁ%}:wa R |
mLE
AlA?2 d AlAl a a-d P
A2A2 -a  AlA2  d d+a q

a=p(a-d)+q(d+a)=a+(q-p)d
o = o, — O,
:qa aZ :_pa



AN [E1ZE B S ER &+ 1y N

B BRI B R B S

RN Y F A pg BN g

0=0.1 0=0.3 0=0.5 q=0.7 0=0.9
AR50 13.56 12.44 11.00 9.24 7.16
HEN+ N o, 0.24 0.96 2.00 3.36 5.04
R pg HIRN. o, 2.16 224 2.00 1.44 0.56
5 pg X+ E RN o 2.40 3.20 4.00 4.80 5.60
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» EEBRYNFTERREYNFUERAIRNBE

XRIEIAZE S, Bl b, = Cci\/’g,)Y)

« MizR: BERRENFUEEAINSE

=a+(q-p)d =«

FEAAY P ; I AE Y B AL HIEHE X
ALA, p° a 2
AlA; 2pQ d 1
APy o’ -a 0

P14 1 (P—g)a+2pqd 2p
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gg
AlAl

AlA2

A2A2

MEFEHLAZAC/E R 3R

FREBUNERIE SREG EREGTHNR

AlAl
a

P
p/2

0

Al1A2
d

G
1/2

A2A2
-d

0
q/2

q

TS SERBGTIKE
£ ZTFEMERL?

pa+qd g[a+(g-p)d] = qa

(p-g)a/2+d/2 (pa+qd)/2 + (-ga+pd)/2 — n
= qo/2+(-pa)/2

-ga+pd -p[a+(g-p)d] = -pa




BMMENAMEXTN

+~ BH#E (Breeding value): s, 1
M— DN B A2 R RS B R I 5 H B EL
BEM{E, MERREBEXNTHEEIIHEIFE
BIRM Az EMER—2.

* M BMESF T ERETHNREFUER
EGEIEI%U“ REF. IMEAA,. A AT

20‘1 o, +o, 2a,




RMEE
+» BMEEZE (dominance deviation) X

Gij =U+0Q; =u+o; t+a; +5ij =u+A+D



| FAEEEI RN G (AR
FREFEFHEFE) ANOVATRRER

Al,p A2,q 7P 1TRN=
17T F3-p
Al,p a,p* d,pg patqd aq
A2, d,pg -a,g° pd-ga a,
P15 pa+qd pd-ga
FIFHN = a, a,




|\ BMMERIN G (RTERAR 9 S i
) ANOVATRTRER

Al, p A2, q TR NL
—1T—Ai'3 -M
Al p A =a;+a;  App=0pta, oy
A2, Q Ay =0,+a;  Axp=0,+a,
FIFHMN= a a,

51~ 13-



BMEBEENNE (RTERRAMEEF
X)) ANOVATRTRER

AL p A2, =
17 F33-p
Al, p Dy=(a-y)-Ay;  Dpp=(d-p)-Ap, o
A2, D,,=(d-p)-Ay;  Dop=(-a-y)-A,, Q5
FIMEN=  ay a,
LIRS SET
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[ty S 1k B 2
@ —S— FME
A2A2 A1A2 A1Al




FEHLZECRF P AR EE R RSR, &
EEME., BEVN. BMENMEEEE

FEA A o RF AR Y S

FEERIN: u = m+(p-g)a+2pqd

FAERBBMMN: o = a+(g-p)d

EHER fnxr HE

BE BRENE BWE EMEx

AlAl p? m+a m+a-p  2qo 20°d

AlA2 2pq m+d m+d-p (g-p)a  2pqd

A2A2 (° m-a

m-a-p -2po. -2p4d



B EBERVIE3Z 57

HER mxr EFERE =ENN BME EMEE

AlAl p? m+a m+a-p  2qa 20°d
AlA2 2pq m+d m+d-p (g-p)a  2pqd
A2A2 @ m-a m-a-p -2pa. -2p4d

G =u+0;=u+q;+o,
D fi; =0 > f.6,=0 > fi,6;, =0



A EREAL SRR

Giig = u+(o +a; +0; )+(ak +oy +6y)+ i

=u+0; +0y + Ly = +A; +By + Ly

liw =Gy —(u+A;+B ) =Gy, —G; -G +u

G=A+D+I

« BENLZECEE A, EHFME. IR
MEEMEY) LU EERS{ESINO0,
H=F&ZIBXHE:X.



EEREM EA (15:1) /EBATHY
Fhrgse, EEMZFEAH0.5

B1B, B1B> B2B Gij
AA Gy, =13 Gy,=13 G2, =13 G,, =13
I, =3 I, =—2 I =3
1111 4 1112 4 1122 = 4
AA; Gy, =13 Gy, =13 Gp0 =13 G, =13
|, =3 l,,=—3 l 0, =2
1211 4 1212 4 1222 = 4
AoA; Gypr =13 Gyp1, =13 62222 =1 G,, =10
I2211:% |2212:% | s
2222 IR 4
G 4 G, =13 G,,=13 G,,=10 u=12%
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» EHIMIZHRL (Average testcross effect of an allele)

» EHIMIZ IR (Average testcross effect of an
allele substitution)

» NEIFALEEEFRIMAZ R A EE B M EII%

A\’

FRAZRERE MSSRA R ARG T BRIR W 52 Ja AR R S R DR I 22 R

@a¥$n}/@j$ A, Pt A,, T %Ziéjiﬁ

As p AtA: mta AAer mtd mipatqd o =gla+(g —pr)d]

A Ao, mHd  Asfo M8 mypd-g,a o =—pla+(g —p;)d]




A 322 SR R R BY 57 1k
« P EEFBUERIA 5

_ P1 P2 P1xP2
GipljP2 = Upppp T+ +5ij

« BMHP I R RZESHERBEE:
Gij = tpypy + GCA;) + GCA ) + SCA,
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1BEHER DR



B AL SR e 7 2
p=P(A1), q=P(A2), p+q=1

EER AlA1L A1A2 A2A2

GBS p? 2pq q°
EEHEE G, ,=m+ta G, ,=m+d G,,=m-a

H = p2611 +2pqgG,, + quzz
Vg = szlzl +2 quIZZ U C126222 —u°
Ve = p°0y +2pags, +9°05



PEHLRZECEFETFMEM S E

BEALAZECRFAFHI IR p =

FNEEBFRYMN: a =

a+(qg-p)d

m+(p-g)a+2pqd

EEE Hmix EEEE BEIN SME BEMEE
m+a-p  2qo -20°d

m+d-p  (g-p)a  2pqd

AlAl p? m+a
AlA2 2pg m+d
A2A2 (° m-a

IS ZE: V,=p2(2qe)2+2pa

m-a-p

[(0-p) a]*+ C

RMFTE: Vp=pX(-292d)*+2

-2pa. -2p4d

* (-2pa)*=2pqa’

0q(2pgd)=+ o



PEHLZECRH P A E A ERA S

T Z Gy 75 Ji KR

RAET 7 Vo RIE

AT 7= Vs FEPIUE GEAE RN
Iy % V, HAE

SIS Vy BYEEZE

ATy 2 V, M RER P

RN XA B AR T 2 Ve FE DR X PRI BLAR R
FEHL IR ZE T % V, BEAL R 22




II‘JEJFILB‘EEEEWISEF 1’57’7‘ Z= R

— I E ------- S IBAE T 7
20 T A a=1. d=0 2.0 F B.a=1, d=0.5
1.5 1.5
e i
Iz 1.0 2 1.0
0.5 0.5
o / .\ 0o s e
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0
AR FERIAL AR % SR FERIAL %
2.0 F C.a=1, d=1 2.0 D.a=1, d=2
1.5 1.5
P i
Iz 1.0 I 1.0
0.5 0.5
0.0 0.0 -
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0

S FERIA LA SR FERIAL AR



The example in mouse (body weight in gram)

Genotype values Genetic effects

++ +pg pEpg m a d d/a
14 12 6 10 4 2 0.5

Gene . Dominance
Breeding value o
frequency deviation

+ pg  ++ +tpg  pgpg *++ +tpg  pPEpPg
09 01 048 -192 -432-004 036 -3.24 1.04 0.13 1.17

0.7 03 192 -1.28 -448-0.36 0.84 -1.96 4.30 0.71 5.01
05 05 400 0.00 -4.00-1.00 1.00 -1.00 8.00 1.00 9.00
03 0.7 6.72 192 -2883-196 0.84 -0.36 9.68 0.71 10.38
0.1 0.9 10.08 4.48 -1.12-3.24 0.36 -0.04 5.64 0.13 5.77



The example in mouse G;=u+A+D

Genotype values Genetic effects

_ +Pg pgpg m a d d/a

14 12

Genotype freq. Pop. )
__ A Mmean  |variance g

O 9 O 1 0.81 0.18 0.01 13.56 1.17 0.24 -2.16 2.40

Breedlng value Dominance deviation
Va Vb |Ve

tpg  pgpg ++ +tpg  PgPs
0.9 0. 0.48 -1.92 432 -0.04 036 -3.24 1.04 0.13 1.17
. Genotype ++: 14 = (13.56) + (0.48) + (-0.04)
* Genotype +pg: 12 =(13.56) + (-1.92) + (0.36)
* Genotype ++: 6 =(13.56) + (-4.32) + (-3.24)

¢ 1/,=0.81%(0.48)2+0.18*(-1.92)2+0.01%(-4.32)?=1.04
* V/,=0.81%(-0.04)2+0.18*(0.36)2+0.01*(-3.24)2=0.13



Another example on over dominance

Genotype values Genetic effects

A1A1 Al1A2 A2A2 m a d d/a
110 150 90 100 10 50 5



The example on over dominance

Genotype freq. |Pop. [Pop.
Al A2 A1A1 A1A2 A2A2 [jl==0 varlance Q2
384

0.8 0.2 0.64 0.32 0.04 122

16 -20
0.7 03 049 042 0.09 125 483 -3 /7 -10

0.6 04036048 0.16 126 576 0 O0 O

0.5 0.5 0.25 0.50 0.25 125 675 5 -5 10
04 0.6 0.16 048 0.36 122 /68 12 -8 20

* Which allele is favored depends on the population
* Population has the highest mean at p=0.6, g=0.4

* When population reaches the highest mean, the
two alleles have equal effects



The example on over dominance

Breeding value |Dominance deviation
Va Vb |V6

Al A2 Al1A1 A1A2 A2A2 A1A1A1A2 A2A2
08 02 -8 12 32 -4 16 -64 128 256 384
0.7 03 -6 4 14 -9 21 -49 42 441 483

06 04 O O O -16 24 -36 0576 576
05 05 10 0 -10 -25 25 -25 50 625 675
04 0.6 24 4 -16 -36 24 -16 192 576 768

 When population reaches the highest mean, the three genotypes
have equal breeding values. No further progress can be made
from the selection on BV. In this case, dominance consists of all
genetic variation.

* Mean of genotype A1A2 is 150, which is much higher
that the highest mean of random mating population.
This explains the advantage of hybrid breeding in plants.




ZFERRZAMRRENGE

« BEHLZECRFARY 6 X2 R AR ZMNTFIHIHMTGTE

K AR P, B; = F, B, P, ¥
e o' 4p’q 200> 4p°Q° 4pg’ q’
FKEAVTHE a 3 (a+d) d 3d 1(-a+d) -a (p—g)a+2pqd
KEANTT 2 0 ia-d)’ 0 1a®+1d? 1(a+d)? 0
+ RAAWBFE o2 =p x0+4p’gxi(a—d)*+---+q*x0
= pgla+(g— p)d]* +3p*g“d* =3V, + 3V,
Id-l A Y
» RAREBBZE 62 = p'x(@)? +4p°ax[2@+d) ++0*(<a)’ - 42
= pa[a+(q— p)d]* + p?g°d? =3V, +3Vp



FRIRRREIRHEE
+ BN AL B R T X R

Parent Offspring Mean of
Genotype Frequency Value  A1A1l A1A2 A2A2 Offspring
AlAl p* AptDy P q 0 V2R
AlA2 2pq AptDi, PP 2pq gF Y2Ag,
A2A2 g° AxptDy O P g /2R,

» R TEMFERRRENDFESHA:
Covy, =Cov(A+D,5 A)=3Cov(A A)+5Cov(D, A) =3V,
Cov, =Cov(5 A2 A)=2+Cov(A A) =3V,



Variance between full sibs and covariance
between offspring and mid-parent

Parents ________|Offspring Mean of
offspring

Genotype Frequency Mid-parent Al1A1 A1A2 A2A2

A1A1 x A1A1 p? a 1 0) 0 a

A1Al1 x A1A2 4p3q Y5 (a+d) % % 0 Ys(a+d)
A1A1 x A2A2  2p?g? 0 0) 1 0 d

A1A2 x A1A2  4p2g? d % % % % d
A1A2 x A2A2  4pq? Y5(-a+d) 0 % % Y(-a+d)
A2A2 x A2A2 ¢* -a 0 0 1 -a

* Variance between half sibs Cov. =1V, +1V,

* Covariance between offspring
and mid-parent  Cov,, = Cov,, =Cov,, =1V,



PEHLAZECRF IR R 2 FI R R

A TARERE A, BLR AYAE AR T2 O
AR f; H A7 HHoEE AA;;, a AA,, d A A,, -a
p* AAXAA, a 1 0 0 a
20’0 AAXAA,  t@rd) g 1 0 L(a+d)
20°q°  AJALXAA, 0 0 1 0 d

2.2

X

4pq A1A; X AlA; d 1 1 1 1d
g’ AAXAA,  i(atd) 0 L L L (-a+d)
q* AAXAA,  -a 0 0 1 -a

T (p-g)a+2pgd = p (P-@)a+2pad = u




ZFIRRRERHEE
«HRESBERIBEE

Cov; =Cov[;5 (P, +P,),0]=+Cov(P,,0)+3Cov(P,,0)
= C0OVgp = %VA

~ ZFERANBLE
Coves = p'a’ +2p°q3(a+d)]° +---+q*(-a)* — u°

= pa[a+(q— p)d]* + p“q“d~
=3Va+3Vo




« MEXFY BIFRIE \ / B C\Y/ D

(AA) (AA)
& 171‘7}7_ %E’g_ﬂﬁﬁﬂ?ﬁgﬁ% Ay = Tac Top + Tap Tac
Cov(X,Y)=2 fXYVA + Ay V5
+(2 fXY)ZVAA +2 T, AxyVpp + (AXY)ZVDD
+(2F IV n+ (2F 0 )AL NV g+



EHYIEMPERFRRENBEE

MR X AY A VAH(J/%i& (ZfXY> VD i 5B (Axy>
EARATFAR 1 0
S Gl
E| ST S EIPIYN 1 0
fEEEARF LE 0
4[] iy
EIE A LA SR A 1 L
FEEAF, AR, 2+FatFs (L+Fa)(1+Fs)

4 4




LA KB BRH ZBCEH TS
Z R 5T RIEE B

F, 55 &5 Lk AABB, I3 R 2R AH V, Vg V,

Gi1- G122 Goazi- G222z Vo Ve Ve
9:3:4 2 1 o o 0.63 0.32 0.05
12:1:3 2 2 0] 1 0.63 0.31 0.06
3:9:4 1 2 0] o 0.61 0.31 0.08
12:3:1 2 2 1 o 0.60 0.30 0.10
9:7 1 0o 0 0o 0.57 0.29 0.14
3:13 o 1 0 o 0.51 0.26 0.23
9:4:3 2 1 0 1 0.51 0.26 0.23
9:1:6 2 0 0] 1 0.43 0.22 0.35
10:3:3 2 1 o 2 0.33 0.16 0.51
15:1 1 1 1 o 0.27 0.13 0.60
3:12:1 1 2 1 0 0.27 0.13 0.60
10:6 1 0 o 1 0.27 0.13 0.60
6:9:1 1 2 2 o 0.05 0.02 0.93
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» SEERMIREER (9:3:3:1) A RELIEE
=5
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80
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pliy ~ 60
R Pl
0.2 + IR 40
0.1 ii 20
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0.5 : 0.1 0 0. 0.4 0.3 0.
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